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= Information Sheet- 01
Name: Grade:4 Subject: English Literature ( ORC)
Teacher: Sabiha Saleh Date:

Chapter: 1 (A Legend of Rubezahl)
1. Word Meaning:

a) Glazier — a person who cuts and fits glass into doors and windows
b) Mound — hill

c) Wail — moan, weep

d) Compassionate — feeling or showing sympathy

e) Haggling — bargain persistently

f) Groan — inarticulate sound made in pain

2. Make Sentence:
a) Mound, b) Wail, ¢) Compassionate, d) Groan, e) spirit

(Follow C.W or H.W copy)
3. True/ False:
a) The glazier was a naughty man- False
b) The glazier discover the mound — True
c) The glazier’s glass broke into hundred pieces — False
d) Rubezahl is the mischievous spirit — True
e) The glazier's whole stock of glass cost at least eight dollars — True
f) The miller was a good and hard working man — False
g) The miller scratched his forehead in puzzlement — False

4. Fillin the Blank:
a) The mountain path was , dusty and covered in small, stones.

b) The glazier agreed to do as Rubezahl said.

c) The glazier on the back of the donkey.

d) The miller offered and the glazier took the money.
e) The boyflewto his ____ and related to him this tale.
f) The miller had been punished by___ .

Ans: a. narrow, sharp b. astonished, c.climbed d. nine dollars e. master, wondrous

f. Rubezahl



5.

I/S:
a) “Ah! That’s batter.” — the glazier said that

b)

c)

d)

e)

f)

9)

“Oh no! Oh no! My family will go hungry.” - The glazier said with sigh
“Hello my good man!” — A traveler said that

‘I don’t know how | am going to recover this loss!” The glazier said that
“Hey, get this donkey some hay!” — The miller said that

“There you go old chap.” — The stable boy said that

‘I don’t eat hay.” — the donkey said that

Question answers:

a)

b)

c)

d)

f)

Why was the glazier feeling tired?

Ans: The glazier was feeling tired because it was a sunny day and he was carrying a
heavy load of glass.

What did Rubezahl disguise himself as first?

Ans: Rubezahl disguised himself as a mound covered with soft grass.

What did Rubezahl disguise himself as second?

Ans: Rubezahl disguised himself as a traveler.

What was Rubezahl’s third disguise?

Ans: Rubezahl’s third disguise was that of a donkey.

Find two examples from the story that show us that the miller was an unpleasant
man.

Ans: The miller had cheated many poor people over the years. He also worked his
animals and servants too hard.

How do you think the stable boy felt when the donkey spoke to him?

Ans: the stable boy was scared and amazed at the same time. That’s why he flew to

his master to tell him this wondrous tale.






